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Chapter 4 Practice Test SCORE

Write the letter for the correct answer in the blank at the right of each question.

For Questions 1-5, find the equation in slope-intercept form that describes
each line. _
1. a line with slope —2 and y-intercept 4

Ly 2+

Vo My x /7 é’-!'";.' // o
2. a line through (2, 4) with slope 0 Y o OXx + w b &R 1Y ) > — {/
7 s (@xXDc L - !

3. a line through (4, 2) with slope~ ), }7’: / //) ’}“é ) y — // X

_\ 2t - = < /MX /-\ . 3- /Z_
4 a line through (=1, 1) and (2, 3 .« I el 5 - ; : ‘
Z = ‘ %Z( ) /’:' g—;;b;??,}_ﬁﬁ; /L} 7 \/é' ' 4 y: ".';")("L/;
Z_; ‘-(.. : T{’-— ) = z(-J) 2’) ) - 7
5. The Ime graphed at the r IUht y 1(3 |1) o
3 !
Ay—;x—] Cy—gx-f-g iy
3 3,43 Ao T y)

By:EX*[ Dy=5x+5 1 | _.(f)lf)

6. What is the equation of the line through (1, 4) with an undefined slope? - /
westida ) huyl — ¢

7. What is the standard form of y — 8 = 2(x + 3)? & 6. Xz ’

A2x+y=14 By=2x+14 C2x-y=-14 Dy—-2x=11

Vv 8 2 Zx 25 o 2 B % :_’
8. If line ¢ has a slope of 5, what is the slope of any line perpendicular to g? 7.
9. A scatter plot of data showing the percentage of total Internet users who

visited an online store on a given day in December includes the points (2008, /

2.0) and (2010, 4.5). Write the slope-intercept form of an equation for the : T

line of fit. 4.5 —z.o z,S’ ,cz o o '}/;M)\fb . f

- — - = : .
' 221D ~2006 ~ Ten S :fg,(?””’-w.,é,
. Using the equation found in problem 9, estimate the percentage of total \ &
Internet users who visited an online store in 2016. | - X =2
nternet users who visited an online store mymﬁ_ X 9. i /Z j@j

. Write the slope-intercept form of the equation of the line parallel to the
graph of 2x +y = 5 that passes through (0, 1).
@ coa P

w /2 percens
(sce o/t /C‘;é"‘?_)

(D y= S @x-exvg 2500
- 5 fw/g)vzs oy 7 .“

7z %R e ZZS/0 by Ve Tt/

.Y:W._Zf.&"(" o '7JJ§ / 11, —
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Chapter 4 Practice Test continueq)

12. Write the slope-intercept form of the equation of the line perpendicular to the

3 . < W2
graph of y=— ol 7 that passes through (3, -2). g? ({ rr g }‘[/!\(O ¥ 12'>‘ i l?_ﬁ)( — }/
. . o4 /(e)
13. Find the inverse of {(2, -2), (3, -2), (5, 7), (4, 8)}. =
132/(/ 22),(~, g))fzg/gﬂ
For Questions 14 and 15, use the scatter plot shown.
14. List the order pairs of the values shown. 90
30
70
- s
50— g
05 2. 52) (P2 L8
15. Based on the data in the scatter plot, what would you expect tl?g yq(\}/aqae?o be ( ! = )“/ C & & ;)/()‘5 <5
for x =2020? 14.
A greater than 80 C between 65 and 50
B between 80 and 65 D less than 50
16. A scatter plot of data showing the percentage of total Internet users who \7
visited an online store on a given day in December includes the points (2008, 15.

2.0) and (2010, 4.5). Write the slope-intercept form of an equation for the line

: . B3
of fit. PETATEE ié. ﬁ% }/ :__,4);%

17 - 18. The table below shows Mia’s bowling score each week she participated
ina bow[ing’l\eague.

)( R e ST ',;1' C‘I’f-"@f.'.‘lxq . 5l
Weeki/ 1 | 2 [ 3 [ 4 [ 5 |76 |) &e71 /' / 1. /@5/% =

y Score/ 122/)’ 131 | 130 | 133 | 145|| 139 |
L’ N )% }7 7 /_7 neey
17. What type of correlation, if any? ______-—--—» \\_ < v b%/i'fh/’
£ e 5" /) amms Z .

A
18. Write an equation that will best fit of the data shown. / X f"é

— / ra
/2315(;),,_4, 18. )/\,2 VXJ-/?‘SZ
19. If Ax)=6x+3, find f~ 1(x) S
Y 26xr3 5 yz X% :Z =3y +h i ;
g _— e — 2
; tgy 7 & 77 \; g ) F‘I}(X) /"'"':-Z—-(@f;‘_z-..".
’LC:._E———:E‘/ /}X»é 19. i o y
20. If fxf= 4(3x — 5), find £ 2 (x). |
Yy = I2x =22 X+ZC’;/Z>/ o SRR
Bonus Find the value of 7 in (4, r), (, 2) so that the slope of the line containing - =T
them is — .
3
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